

**BID NUMBER - PURCH 2015-017
 APPEAL LANDFILL UTILITY IMPROVEMENT
 CALVERT COUNTY, MARYLAND**

PRICING COMPARISON SPREADSHEET

Bidding Firm	Item A-1			Item A-2			Lump Sum Subtotal (Sum of Items A-1 through A-2)
	All Work Required by the Contract Documents for the Construction of the Appeal Landfill Utility Improvements Pumping Station						
	Unit Price	Qty	Total Price	Unit Price	Qty	Total Price	
Snyder Environ.	--	--	\$640,000.00	--	--	\$31,000.00	\$671,000.00
Carson	--	--	\$790,000.00	--	--	\$120,000.00	\$910,000.00
W.M. Davis	--	--	\$728,108.00	--	--	\$111,628.00	\$839,736.00
Schummer	--	--	\$723,559.00	--	--	\$220,920.00	\$944,479.00
Gradient	--	--	\$731,320.00	--	--	\$109,800.00	\$841,120.00

Bidding Firm	Item B-1			Item B-2			Item B-3			Item B-4			Standard Unit Price Items Subtotal (Sum of Items B-1 through B-4)
	Provide 8" FPVC Pipe for Installation Via HDD Method						Provide 4" HDPE Pipe for Installation in 8" Carrier Pipe						
	Unit Price (LF)	Allocated Qty	Bid Price	Unit Price (LF)	Allocated Qty	Bid Price	Unit Price (LF)	Allocated Qty	Bid Price	Unit Price (LF)	Allocated Qty	Bid Price	
Snyder Environ.	\$43.00	8370	\$359,910.00	\$14.00	2780	\$38,920.00	\$167.00	5590	\$933,530.00	\$189.00	2780	\$525,420.00	\$1,857,780.00
Carson	\$36.00	8370	\$301,320.00	\$12.00	2780	\$33,360.00	\$155.00	5590	\$866,450.00	\$214.00	2780	\$594,920.00	\$1,796,050.00
W.M. Davis	\$30.57	8370	\$255,870.90	\$4.06	2780	\$11,286.80	\$207.66	5590	\$1,160,819.40	\$232.85	2780	\$647,323.00	\$2,075,300.10
Schummer	\$45.00	8370	\$376,650.00	\$21.00	2780	\$58,380.00	\$194.00	5590	\$1,084,460.00	\$197.00	2780	\$547,660.00	\$2,067,150.00
Gradient	\$37.00	8370	\$309,690.00	\$6.00	2780	\$16,680.00	\$225.00	5590	\$1,257,750.00	\$246.00	2780	\$683,880.00	\$2,268,000.00

Bidding Firm	Item C-1			Item C-2			Item C-3			Item C-4		
	Test Pit Excavations and Compacted Type A-1 Backfill			Run-of-Crusher Backfill and Offsite Disposal of Unsuitable Materials			Sediment Removal Filter Bag			Silt Fence		
	Unit Price (CY)	Allocated Qty	Bid Price	Unit Price (CY)	Allocated Qty	Bid Price	Unit Price (EA)	Allocated Qty	Bid Price	Unit Price (LF)	Allocated Qty	Bid Price
Snyder Environ.	\$74.00	100	\$7,400.00	\$329.00	100	\$32,900.00	\$191.00	10	\$1,910.00	\$3.00	150	\$450.00
Carson	\$5.00	100	\$500.00	\$25.00	100	\$2,500.00	\$25.00	10	\$250.00	\$2.00	150	\$300.00
W.M. Davis	\$181.50	100	\$18,150.00	\$60.50	100	\$6,050.00	\$181.50	10	\$1,815.00	\$6.00	150	\$900.00
Schummer	\$50.00	100	\$5,000.00	\$65.00	100	\$6,500.00	\$350.00	10	\$3,500.00	\$10.00	150	\$1,500.00
Gradient	\$390.00	100	\$39,000.00	\$223.00	100	\$22,300.00	\$700.00	10	\$7,000.00	\$5.00	150	\$750.00

Bidding Firm	Item C-5			Item C-6			Item C-7			Item C-8		
	Miscellaneous Concrete			Hot Mix Asphalt Pavement			Furnish and Install 2-Inch Type B Conduit			Furnish and Install 2-Inch Type G-1 Conduit		
	Unit Price (CY)	Allocated Qty	Bid Price	Unit Price (SY)	Allocated Qty	Bid Price	Unit Price (LF)	Allocated Qty	Bid Price	Unit Price (LF)	Allocated Qty	Bid Price
Snyder Environ.	\$135.00	20	\$2,700.00	\$180.00	100	\$18,000.00	\$18.00	100	\$1,800.00	\$10.00	20	\$200.00
Carson	\$70.00	20	\$1,400.00	\$25.00	100	\$2,500.00	\$5.00	100	\$500.00	\$5.00	20	\$100.00
W.M. Davis	\$302.50	20	\$6,050.00	\$60.50	100	\$6,050.00	\$18.20	100	\$1,820.00	\$24.20	20	\$484.00
Schummer	\$350.00	20	\$7,000.00	\$88.00	100	\$8,800.00	\$16.00	100	\$1,600.00	\$17.00	20	\$340.00
Gradient	\$500.00	20	\$10,000.00	\$333.00	100	\$33,300.00	\$18.00	100	\$1,800.00	\$17.00	20	\$340.00

Bidding Firm	Item C-9			Item C-10			Item C-11			Item C-12		
	Furnish and Install No. 12 AWG, Type THWN Conductor			Furnish and Install No. 14 AWG Type THNN Conductor			Furnish and Install No. 16 TSP Instrumentation Cable			Furnish and Install Concrete Encased and Rebar Reinforced Electrical Ductbanks with 4-Inch Type D Conduits and Type E-1 Conduit Stub Ups on Both Ends		
	Unit Price (LF)	Allocated Qty	Bid Price	Unit Price (LF)	Allocated Qty	Bid Price	Unit Price (LF)	Allocated Qty	Bid Price	Unit Price (LF)	Allocated Qty	Bid Price
Snyder Environ.	\$0.50	500	\$250.00	\$0.50	500	\$250.00	\$2.00	150	\$300.00	\$120.00	40	\$4,800.00
Carson	\$2.00	500	\$1,000.00	\$2.00	500	\$1,000.00	\$2.00	150	\$300.00	\$40.00	40	\$1,600.00
W.M. Davis	\$0.61	500	\$305.00	\$0.55	500	\$275.00	\$0.55	150	\$82.50	\$212.00	40	\$8,480.00
Schummer	\$1.00	500	\$500.00	\$1.00	500	\$500.00	\$1.00	150	\$150.00	\$225.00	40	\$9,000.00
Gradient	\$3.00	500	\$1,500.00	\$2.00	500	\$1,000.00	\$3.00	150	\$450.00	\$225.00	40	\$9,000.00

Bidding Firm	Item C-13			Item C-14			Item C-15			Item C-16		
	Miscellaneous Electrical Labor			Miscellaneous Civil/Mechanical Labor			HDD Redirect (Defined as Pullback of at Least 5 Rods to Avoid Obstruction)			Use of Rock Drilling Tolls for HDD Installation		
	Unit Price (Man Hours)	Allocated Qty	Bid Price	Unit Price (Man Hours)	Allocated Qty	Bid Price	Unit Price (EA)	Allocated Qty	Bid Price	Unit Price (LF)	Allocated Qty	Bid Price
Snyder Environ.	\$72.00	40	\$2,880.00	\$68.00	100	\$6,800.00	\$6,000.00	1	\$6,000.00	\$120.00	100	\$12,000.00
Carson	\$80.00	40	\$3,200.00	\$50.00	100	\$5,000.00	\$1.00	1	\$1.00	\$1.00	100	\$100.00
W.M. Davis	\$54.50	40	\$2,180.00	\$45.97	100	\$4,597.00	\$11,491.00	1	\$11,491.00	\$423.40	100	\$42,340.00
Schummer	\$75.00	40	\$3,000.00	\$75.00	100	\$7,500.00	\$7,500.00	1	\$7,500.00	\$200.00	100	\$20,000.00
Gradient	\$100.00	40	\$4,000.00	\$100.00	100	\$10,000.00	\$9,500.00	1	\$9,500.00	\$335.00	100	\$33,500.00

Bidding Firm	Item C-17			Contingent Items Subtotal (Items C-1 through C-16)
	Subsurface Invesetigation - Soil Borings			
	Unit Price (LF)	Allocated Qty	Bid Price	
Snyder Environ.	\$60.00	210	\$12,600.00	\$111,240.00
Carson	\$1.00	210	\$210.00	\$20,461.00
W.M. Davis	\$54.43	210	\$11,430.30	\$122,499.80
Schummer	\$87.00	210	\$18,270.00	\$100,660.00
Gradient	\$110.00	210	\$23,100.00	\$206,540.00

Bidding Firm	Schedule A (Total Lump Sum Bid Items)	Schedule B (Standard Unit Price Items)	Schedule C (Contingent Items)	Total Bid Price
Snyder	\$671,000.00	\$1,857,780.00	\$111,240.00	\$2,640,020.00
Carson	\$910,000.00	\$1,796,050.00	\$20,461.00	\$2,726,511.00
W.M. Davis	\$839,736.00	\$2,075,300.10	\$122,499.80	\$3,037,535.90
Schummer	\$944,479.00	\$2,067,150.00	\$100,660.00	\$3,112,289.00
Gradient	\$841,120.00	\$2,268,000.00	\$206,540.00	\$3,315,660.00